T +44 01258 863600 : CI— E-Mail; palmer@creative-engineering.com
Long tecnical questions cannot be answered by email. Please call.
F +44 01258 863400 —— WWW. Creative-engineering.com
G
CREATIVE ENGINEERING
WESTFALIA 4 BOW ROOF RACK FITTING INSTRUCTIONS

2 x 6 hole slats go on outside of rack

Bows with brackets go at eack end, brackets facing inwards

If splitscreen bus, the narrower (A) of the two bows goes at the front of your bus
~~a (Baywindow bus are both the same width .)

"\ Finger fighten the cap head screws into
alloy uprights. Use M4 machine screws
and nylocs to secure wood .
DO NOT FULLY TIGHTEN

Use M6 coach bolts fit
in outer four corners.
DO NOT FULLY TIGHTEN

Slip on comners with
dimples upwards.
Drill dimple with 3mm drill and slip in rivits.
Snip off rivit excess leaving 3mm
underneath. Use two hammers and doilly
rivit. Tighten all fastnings.

Fit remaining wood slats.
Use M4 machine screws and nylocs to
secure remaining wood..

DO NOT FULLY TIGHTEN

Use M6 coach bolts fit
in outer four comners. Badges screw on the side of
DO NOT FULLY TIGHTEN the wood using brass screws

Enford Mead, Gains Cross, Durweston, Blandford, Dorset. Di11 0QW England  Sales felffax +44 01258 863600 E-Mail; palmer@creative-engineering.com



	Page 1

